Signature and Name of Invigilator

1.

2.

15

Time : 2Y2 hours]

(Signature)
(Name)
(Signature)
(Name)

1|5

PAPER - I1I
POPULATION STUDIES

OMBR SheetNO. : .........ovieemiericcrireircreniressenenneanes
To be filled by the Candidate)

Roll No.

(In figures as per admission card
Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

N o

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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POPULATION STUDIES
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Read the paragraph given below and answer questions (1 - 6) :

The National Rural Health Mission (NRHM) launched on 12" April 2005 primarily
aimed provisioning of accessible, affordable and quality health care to rural population,
especially vulnerable and underserved population groups in the country with the primary
objective of faster reduction in infant mortality rate (30 per thousand live birth) maternal
mortality ratio (100 per 1,00,000 live birth) and total fertility rate (2.1) by 2012 to accelerate
the population stabilization process by 2045AD at a level consistent with the requirements of
sustainable economic growth, social development and environmental protection.

The architectural correction enshrined in the Preamble of NRHM document primarily
comprised of decentralization, communitization, organisational structural reforms in health
sector, inter-sectoral convergence, public private partnership in health sector, mainstreaming
Indian system of medicines under Ayurveda, yoga, Unani Sidha and Homeopathy (AYUSH),
induction of management and financial personnel into health care management and delivery
system. The NRHM vision envisaged the architectural corrections to enable the heath care
system to effectively handle increased allocations and promote policies that strengthen public
health management and service delivery in the country. The mission also intended to adopt
synergistic approach by relating health to determinants of good health viz nutrition, sanitation,
hygiene, and safe drinking water.

The mission attempts to achieve its goals through a net of core strategies including
decentralized health planing and management, appointment of community heath volunteers,
strengthening of public health service delivery infrastructure, promoting the non-profit sector
and community empowerment inter-sectoral convergance launching of Janani Suraksha
Yojana (JSY) scheme formation of village health sanitation committee and upgradation of
public health facilities to Indian Public Health Standards (IPHS) etc.

What was the aim of National Rural Health Mission ?

(1) To improve health status of rural, vulnerable and underserved population groups in
the country

(2) Tomake rural health services more responsive and comprehensive including promotive,
preventive and secondary heath care services

(3) To provide accessible, affordable and quality health care to rural population, especially
vulnerable and underserved population groups

To provide services based on equity, gender sensitivity, quality and affordability

N
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12 79, 2005 ® IE fohd T3 T U0 e U 1 YW d8F 9 hi A0 SE],
TSRt HHSIR G S Tl YTl SIEEA THE 1 G, fhthrerdt e qorermol e gaumd yeH
FHAT o1 FSTEeht Y7 32¥d a9 2012 0 F9 =il B g HH A o1 S8 Y] g < (fd 2R Sfifaa
S 3cq= RrgEl 9 30), "G g STgu (i @ Sifod s RRE § 100) T A IS
(2.1) IR o 2045 T TTEEA eI i Uishal 36 R d 1 i S S Had A1 foem,
T foehma qen vateRor i GReM F STIH o |
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T s 9on 999 <91 WS e Yo g T8 foaion el Jeed &l Heh |
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I AT A1 wiHA |
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Which was the primary objective of National Rural Health Mission ?

(1)
(2)
)

(4)

To reduce the urban-rural differential in health status of population in the country by
2045AD

Faster reduction in infant mortality rate, maternal mortality ratio and total fertility rate
to accelerate the population stabilization process by 2045AD

Expansion of family planning services through ASHA and other health workers to
accelerate the population stabilization by 2045AD

To increase age of marriage, promotion of spacing methods of contraceptions and
reduction of infant and child death rates

What has been mainstay of architectural corrections enshrined in the Preamble of NRHM
document ?

1)

It comprised of better governance, financial and logistic management, improved
infrastructure and quality health care services

It comprised of better allocation of resources, public private partnership, community
ownership and convergence with other sectors

It comprised of assuring basic health services to all in gender sensitive, human right,
equitable and efficient manner

It comprised of decentralization communitization, organizational structural reforms
in health sector, intersectoral convergence public private partnership mainstreaming
Indian System of medicines, improving health care management and delivery system

Which kind of approach was adopted in NRHM ?

(1)
(2)
®)

(4)

It adopted multiple approach of demand side financing, augmenting human resources
increased budgetary allocation and communitization of services

It adopted synergistic approach my relating health to determinants of good health viz
nutrition, sanitation, hygiene and safe drinking water for improved outcomes

It adopted mix of clinical, social and developmental approach for bringing down
mortality and ensure better health outcomes

It adopted Primary Health Care” approach to address infant, child and maternal health
issues in the country

Which among the following was promoted under Indian System of Medicines under
NRHM ?

(1)
(2)
(3)

|H||H||H||\|H||!

Ayurveda, Yoga, Tibbetian medicine and traditional healing
Ayurveda, Herbal medicine, Naturopathy, and Homoeopathy
Ayurveda, Yoga, Unani, Sidha, and Homoeopathy
Ayurveda, Unani, Homoeopathy, Electropathy

=
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(1) a9 2045 q% < H SEE 1 @A fafa § ved-umie fade w17 w5
(2) T 99 R, AG g A A A IS S H A A FHH A qlMh T8 2045 Toh TGS
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SeeE feedientor & o 4 qSit a1 e |
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foraeor gomett # gum e 71
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(1) TH8 977 9e1 faa yae wa GErel sl agH, afta seieid sTeed qun Sansti 1 THgrRiso
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(2) TUH 3= WA o YRl T1q: qvv, Wesdl, §EE a1 G 99 ST o FeishaTds SURH
=1 TR foarn T © ifer 7= oy fied |

(3) TUH o HH T qUT dgaX e G e I 7 AalTeh, MRS qe foenmeTen
THet-S[et SUNTHT &l iR foham 7o 21

(4) = WUHF WA T@-T@ SUMTH R fohan T § @ifer 2w | frgy, ot e Ang e gE
W A T ST e |
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() e, S-St A, Wrehfaen fafeean qen grriet faferen wgh
(3) STRER, A, A, fag den difiieh fafwe v
4) e, AT, Sl qon seraRe fafweam weh
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10.

11.

oo

Which one of the following was not the core strategy to achieve goals in NRHM ?
(1) Decentralized health planning

(2)  Universal coverage of health insurance
(3) Intersectoral convergence
(4) Formation of Village Health Sanitation Committees

What information is missing in service statistics for computation of incidence rate of
disease ?

(1) numerator (2) denominator

(3) numerator and denominator (4) none of the above

Who among the following proposed ?

I (Impact) = P (Population) X A (Affluence) X T (Technology)
(1) Paul Ehrlich (2) Kingsley Davis
(3) Carr Sauders (4) Easterlin

Which one of the following characteristics of husband makes wife most prone to spousal
violence ?

(1) Husband’s drinking behaviour  (2) Husband’s controlling behaviour

(3) Husband’s education level (4) Increasing age-gap between husband and wife

Find out the correct combination of answer according to the following statements :
(@) Increasing urbanization is an indicator of deteorating quality of living

(b) Level of urbanization is closely linked with economic development

(c) Level of urbanization is closely linked with economic and social development
(

d) Level of urbanization is closely linked with economic, social and technological

development
Codes :
(1) (a) only (2) (@) and (0
(3) (@ (b) and (9 (4) (@) () () and (d)

Which amongst the following statement is not correct ?
(1) Domestic violence is a violation of the human rights of women

(2) Domestic violence has significant economic costs including loss of women’s labour hours
and increased health care costs

(3) Domestic violence has significant public health consequence including effects on
unwanted fertility, contraceptive use, infant and child mortality, children’s access to
immunization and other health care

Domestic violence does not affect women’s mental and psychological health

=)}
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10.

11.

frefafed § @ 1 TR T=.TH. § |8 99 ®1 Y@ SRl @ ot ?
(1) fohsiaa @ I |

(2) |t I TETE ST IS FIAT

(3)  STR-&f HIEd |

(4) THIO TR Tesdl SiAfaEl S T |

TR % FuE R F INHed & g Fan wiferst § wE-9 g 7w 11 €2
1) & 2 &

(3) SWMIARH (4) ST H ¥ HE T

frefafed ¥ 9 @8 foraa wfamfea fean?

1 (991@) = P (S98@) x A (Wrgd) x T (Jrnfimt)

(1) did wgfels ) T faw

(3) @R dred (4) z=fda
frefafea 9 @ ufd 1 -1 =eER I w1 W e 9 gufad w872

(1) dfd =l AfeUaH =i eTed (2) °fd &1 FE90 § W@ * FARR

(3) fa =1 forenm =R (4) dfd 3R el & i Sgar STy i

frefafad weml & STTER W& S & Wi 1 =91 HIN

(a) T § gfg e wR &t o § g9 &1 Ghdd |

(b) TR T TR FA T F 7w fowmm @ 21 7

() RIS 1 &R HAe 9 F fefw R qrtiers fasm ¥ e T

(d) TRIH H TR FAs 9 G fefar, grifes iR grifrent fowm @ Je1 71

W:
(1) e (a) 2) (@) &R (0)
3) (a), (b) I (c) 4) (), (b), () R (d)

frefafed # @ SF-91 Fo7 A& TEé T 2

(1) =kq T Afgensti & AFeTfasRi &1 3= ¢ |

(2) =Rq fEwn & Afeensdi & gv =l § HHt IR WRed <@-9d ANl 9 gfe died Heequl s
THYE B4 |

(3) wq fEa ¥ sr=m oA, Y fRgs 3w, Ry R 9w g9, afew oiv o= W
G- qF I H1 Ugd W YTl Higd 51 ey | gy of 29 ¥
e fear ufeasii & AMfas 3R AEIe w@Re | gurE T ST |
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12. The life table column [, is the number of persons of age x. For calculation of probability dying
between 30 and 50 years, select the correct formula from the following :
(1) 130 /150 (2) LSO /LEO
(B)  Ts0/Ts (4) (=I5 /ls5)
13. Find out the correct answer of the urban units for which Indian census provide data.
(a) Conurbation
(b) Urban agglomeration
() Rural urban fringe
(d) Metropolitan cities
Codes :
(1) (a)only (2) (@) and (9
(3) (b)and (d) (4) (9 and (d)
14. According to Rostoks which one among the following determinants does not have significant
affect on the pace of development.
(1) Propensity to apply science to economic ends
(2) Propensity to accept innovations
(3) Propensity to seek material advancement
(4) Propensity to consume
15. Match the items in List - I with List - IT and select the correct answer using codes given
below :
List - I List - II
(a) Montreal Protocol (i) Ozone depletion
(b) Rio - Summit (i) Green house gas emission level
(c) Ramsar convention (iii) Convention on Biological diversity
(d) Kyoto Protocol (iv) Wetlands convention
Codes :
(@ (b) (o) (d)
M G @ 0
@ (v @) 0 G
@) O ) (v G
@ O @ G
o [N : papeca




12. Sfted gweft e [ 37 At w1 §e 8 St S a2 30 | 50 96 Y Y F ot gog
HTeFdl i AT R & fog frefafed § 9 98t 939 &1 =999 i
1) 13 /15 (2) Ly /Lsg
) Ti /T @ (-l /I
13. frAfafEd TR sHRal § 9 el SW H1 991 DI [ T TRATT S0 3Tishe SUeTsd !
g:
(a) STTRA TET
(b) T TR
(c) UTHHA-TRE HiHid
(d) WEEE
%< :
(1) FF () (@) (@) ¥ ()
() (b) R (d) (4) (0 SR (d)
14. IR F IER Frefafad § @ g frufes &1 faswm #3t 1fa W Fewget g & 82
(1) o7 et o fogm™ o STIIar i g |
(2) T I AR I H g |
(3) ifae seIfa urd T 6t ygia |
(4) N HE HT Y |
15. G- 19 @ T 76 &1 et - 11 % o1y gafed S o = e 7e F § 9 w8 S # =
HIT
Tt - 1 Tt - 11
(a) TfZaa TR (i) S &ffor
(b) TE-ferer 9o (i) T TR 19 AT 'R
(c) TIER-|HEA (iii) Sifoe fafayd = g
(d) R e (iv) o= qf e
%<
(@ (b) (o) (d)
1) @) (@) @ v
(2)  Gv) (@) @ (i)
G O (iii) (IV) (i)
4) @ (iii)
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16. Match the items given in List - I with items in List - II :
List - I List - II
(a) Megalopolis (i)  Futuristic form of urban settlement
(b)  Smart city (i) Multicentre urban field
(c)  Ecumenopolis (iii) Urban field
(d) Conurbation (iv) A city equipped with basic infrastructure to give a
decent quality of life, a clean and sustainable
environment through application of some smart
solutions
Codes
(@ (b) (o) (d)
@ (v (@) )
(2) @) @Gv) @O @)
() @) (v) @) ()
@ @ () G ()
17. Match indicators given in List - I with their definition given in List - II :
List - I List - II
(a) Child - women Ratio (i) The ratio of economically dependent part of the
population to the population in the “working ages”
(b) Dependency Ratio (i) The number of children under age 5 per 1000 women
ages 15 - 49 in a population in a given year
() Sex Ratio (iii) The number of women who die as a result of
pregnancy and child birth complications per
1,00,000 live births in a given year
(d) Maternal Mortality Ratio  (iv) Number of females per 1000 males in a population
Codes :
@@ (b) (9 (d)
O ) O @ G
@ O @) @) @)
@) () O @) ()
@) G @) 0O @
18. Gender equality and women empowerment is emphasised in one of the Millennium
Development Goals, identify the goal from the following :
(1) Goal1l (2) Goal 2 (3) Goal 3 (4) Goal 4
19. UN Joint score method is used for which among the following purposes ?
(1) interpolation of population (2) evaluation of age - sex data
(3) population projection (4) all of the above
oasas | IRCANAN 10 Paper-




16.

17.

18.

19.

A - 11 <1 7ft wel ol gt - 1 H <1 7l wel § gt S

Tt - 1 T - 11
(a) TR (HMEAIerE) () RN I & fod afosgardt 9=
(b) T WX (W &) (i) Sghs WEY &
() SHREANIaY (iii) v &=
(d) SUTHE FHET (FETE)  (iv) Tk UH IR S $© IS HHE o STIIENT & HieTH |

Siter i Iepte T[UTEI, oS Td WUy Jafeiv IeH
FA TG AR ATHEAT § g B |

@ () () (d)

k3
(

1) @) Gv) (D) (i)

(2) (@) @v) (@) (i)

3) (@) (v) (i) ()

4) @@ @) @) (i)

Tl - 1§ 3T T Gehaani &l Geit - 11 H 3 T8 3Ten! TR § gafad it

et -1 et - 11

(a) STA-Hfgal A () ‘‘wrEid o' ¥ SEen o fau sHeen w1 s
w9 § MR 9 1 e

(b) Tefar et (i) TUH feu MU ¥ H sHEen | 15 - 49 S T HF 1000
wfgensti ®§ 599 ¥ ®7 3 & F=1 ® &

(c) fem srum (iii) T few T o H wfdq 1,00,000 Siferd S § Moyfarcen SR
ST ST Sfeadiell o HRO T delt Aigersti w1 §E&

(d) ¥qg9I R (iv) Teh SEE | 9 1000 esi X Afgensti & g

e :

(@ () (9 (d)

1) Gv) (@) @) (i)

2 @ @) (@) (iv)

(G) (@) (@) (v) (i)

(4) (@) (@v) @ ()

Heafss fasm ezl § | Uk ifTeh Tamar 3iR wfee Aeifadeel | 5t <1 ¢, Ffafaa § @ 9
w87 a1 o wifs .
1) @&l 2) @eF2 (3) @3 4) w4

frefafaa § 9 f5a waiem % faT 3.0A. SaEe TR B &1 JAN 5 < € 2
(1) G T AT () sg-fem SRS 1 g
SHEA Y& (4) ST |l
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20. Which one of the following formulae in terms of life table columns, calculate probability of
survival from birth to 0 - 4 years ?
1) 4Ly/ 1 2 T5/1,
6) 9 @ Lo/ Gl

21. Gender differential in mortality can be noted from a number of mortality indicators. Which
one of the following mortality indicators captured the fact that overall mortality for female is
better than that of male ?
(1) infant mortality rate 2 9
(3) eo (4) maternal mortality ratio

22.  Which one of the following methods is used to project district population ?
(1) Component method (2) Regression method
(3) Ratio method (4) Mathematical model

23. Crude death rate in USA is found to be 10.0 deaths per 1000 population this level in India is
7.0 deaths per 1000 population. What will you say about comparative level of mortality in
these two countries.
(1) Mortality in USA is higher than India
(2) Mortality level of these two countries cannot be compared because they are very different
(3) Calculate expectation of life at birth (°/) for these two countries and then compare
(4) Death rates in these countries should be standardized for comparison

24. Which of the following period is covered by the latest available population projections for
India ?
(1) 2001 - 2026 (2) 2011 - 2026
(3) 2011 - 2036 (4) 2006 - 2026

25. Choose one of the following given below relations between Quartile Deviation (Q.D.), Mean
Deviation (M.D.), and Standard Deviation (S.D.).
(1) 4QD. =5MD. = 6S.D. (2) 5QD. =6MD. = 4.SD.
B) 6QD.=5MD. = 4SD. (4) 4QD.=6MD. =5.5D.

26. Which one of the following formula given below is used to estimate the probability of death
(ngx) in conventional life table method using ASDR in a given population ?

_2,m, . 2nX ,my
(1) nfx 2+ ,m, @ nix 24+ n X ,m,
_ aMyt2 _ 1My

(3)  nfx nxX ,m, (4)  nfx 2+nXx ,m,
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20. Sied R T % SR Freafafad § 9 &A-91 93 51 9 0 - 4 I9 q% i 3T q SALSiadm i
HTeTaT T TReher Hdl § 2
D) 4Ly / I 2 Ts5/1
G) 49 ) 4Ly / Glo)

21. G WY e fades e 7 X GgFS § <@ o wal ¢ | Fefafed ¥ @ fea 99 ) 997
Y 9% qea T goTl T e T Afeens 1 g R &0 1 9 W H IR T2

1) FgIgxR @ 9
3) eo (4) g g U

22. S &1 SEE 1 <9 & foau f=fafad § 9 foeg ggfa =1 ssqme foan s 22
(1) 9o dgid (2) ufama ggfa
(3) T wgfd (4)  TIfoRT W

23. GIH T SARI(F,TAT,) § 1000 T8 TR 10.0 Jog X IE T &1 9IRd | 78 T Ifd 1000 | 7.0
B3 IFI 9 % T X F TOCHE TR H TR H 3T T L ?
(1
2
3
(4

) HIH T STHRH (L.THT) H ARG il GG 1 qal 3 A8 9 T 7|

) 37 QI <Nk Yog T TR HI qAT TG R S Fhd! iR o ST hIoRT 9 |

) S oWl § STH % FHA HT SfEd TR (O],) T HINT AR qoREr gor it |
) TN H % AT 3 <90 BT G I WHSTRA R ST =0fE

24. frefafgd 4 @ SA-9 eafy g § oT=dd SUdsy S9N 989 | snfad € 2
(1) 2001 - 2026 (2) 2011 - 2026
(3) 2011 - 2036 (4) 2006 - 2026

25. frAfafed # @ &R AG9E fageq (Feka Sfawwd) (Q.D.) A foued (FF Sfawe) (M.D.)
g 7w foged (¥ efaugd) (S.D.) & o= &1 day © ?
(1) 4QD. = 5MD. = 6SD. 2) 5QD. = 6MD. = 45D.
(3) 6QD. =5MD. = 4SD. (4) 4QD. = 6MD. = 5SD.

26. frefafed § 9 f8 G 1 STFM ASDR &1 START L WRIATT Sita qroft fafa § 9o w0t gifrskan
(ngx) o 3Tieher & ot fohan Smar g 2

_2,my _ 2n X ,m,
1) nix 2+ ,m, @) nfx 24+ n X ,m,
_ aMy+2 _ n My
(3) i nX ,m, (4) i 2+nX ,m,
osis [ FHUAUA A i




27. Match the items given in List - I with the items in List - II
List - I List - II
(a)  Year of lowest sex ratio in population (i) 1981
(b)  Year of highest population growth rate (i) 1991
()  Year when census count showed India’s (iii) 2001
population of 100 crore or more (one billion)
(d) Year when infant mortality rate came down (iv) 2009
to 50 or below
Codes :
(@ (b) () (d)
O O @ () )
@ O @ @) )
@) @ O @ @)
@) @ O Gv) )

28. UN Joint Score (JS) is based on empirical relationship between the Sex - Ratio Scores (SRS)
the Age - Ratio Scores Male (ARSM) and the Age - Ratio Scores Female (ARSF). Which one of
the following relationship given below is correct ?

(1) U.N. Joint Scores (JS) = 2 (SRS) + ARSM + ARSF

(2) U.N. Joint Scores (JS) = 3 (SRS) + ARSM + ARSF

(3)  U.N. Joint Scores (JS) = 4 (SRS) + 2 (ARSM) + 2 (ARSF)

(4) U.N. Joint Scores (JS) = 5 (SRS) + 3 (ARSM) + 3 (ARSF)

29. Match the indicators given in List - I with their sources given in List - II :

List - I List - II

(a) Couple Protection Rate (i) Sample Registration System

(b) Contraceptive Prevalence Rate (if)  Service Statistics

() Natural Rate of Population Growth (iii) Population census

(d) Rate of population growth (iv) Demographic Surveys

Codes :
(@ (b) () (d)

O () (@) @)

@ (@ @) O

@) O @) (v G

@ O @ )

30. Which one of the following is five guiding principle of “Primary Health Care” ?

(1) Nutrition, hygine, prevention of diseases, population control, human right approach
in health care

(2) Population control, water and sanitation, public health strengthening, quality of care,
environmental sanitation

(3) Equitable distribution, community involvement, focus on prevention, appropriate
technology, multisectoral approach

(4) Social development, preventive and promotive health, gender equity, quality of care,
convergence of services.
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27.

28.

29.

30.

A - 11 <1 7f wel o et - 1 H <1 Tl wel § gt S

gt - 1 gl - 11
(a) wEen ¥ freram fom e &1 a | (i) 1981
(b) S=AH SAEE g H | (i) 1991
(c) =% ad fSuH wRA &1 SO H 100 w4 (1 fafd= ) (i) 2001
T 39 afure < T
(d) % a9 oed o] g X ot 50 Aoer 399 ot (iv) 2009
ERRRIR
< :

@ b © @
M O @ G G
@ O @ @) v
@) () O @) ()
@ @ O (v ()

YA & HIF A (JS) IR AT TUE i (SRS) Y ST 3k TEY (ARSM) qAT 3T ST{UTd
s AfeeT (ARSF) & o9 Tammfad ey §1 = fod T frefafed § 9 sF-w g9y w8 €72

(1) EgH T ¥ 3% (JS) = 2 (SRS) + ARSM + ARSF

(2) EgH U HYH 3% (JS) = 3 (SRS) + ARSM + ARSF

(3) HIH U HIH 3 (JS) = 4 (SRS) + 2 (ARSM) + 2 (ARSF)

(4) EIF T HYH 3% (JS) = 5 (SRS) + 3 (ARSM) + 3 (ARSF)

et - 19 53 T gkl o1 et - I H 3 79 37k @il § gafad &g

et -1 et - 11
a) TEdl A () ufaee oSfEa gfa
b) THfFRIYE =@ R (i) Hel STwe
(c) SMEE gfg & Uepfae (i)  STHEAT ST
d) e gfg H R (iv) SRR Felao
%< :
(@ (b) () (d)
(1) Gv) (@) (D) (D)
(2 @) (@v) (@ (i)
@) @ () (v) (i)
(4) (&) @) (v) (i)

freafafad § @ sF-a1  wafts @ gren’ & urg fdees fagia 82

(1) =LA, Tree-Toam, W 9 Uk, SHae HE30, e gan § Aqe STfHeR Sar |

2) WW,W@IW,WW@W,QT%#QW,WW|

(3) A oo, Ter i YRiERY, ko™ TR &AM <1, UG qehieh, fafay &sia surm |
gt T, famre ok Hicdtes Tameea, fam STurd, FRam i T[orerd, Jansti § Hafierd |

ST i



31.

32.

33.

34.

Which of the following is correct regarding National Population Policy 2000 ?
(1) It has 14 socio - demographic goals, 12 strategic themes and 100 +Point Action Plan
(2) It has 10 socio - demographic goals, 12 strategic themes and 100 + Point Action Plan
(3) It has 10 socio - demographic goals, 10 strategic themes and 100 + Point Action Plan
(4) None of the above
Which one of the following is appropriate definition of ‘Reproductive Health” ?
(1) It is defined as free from reproductive morbidity
(2) It is defined as free from reproductive trace infection
(3) Itis state of complete physical mental and social well being in all matters relating to the
reproductive system, its functions and processes
(4) It implies that people are able to have a satisfying and safe sex life and they have
capability to reproduce and the freedom to decide if when and how often to do so
Match the five year plans given in Column - I with family welfare program strategies given
in Column - II :
Column - I Column - II
(a) Fifth five year plan (i)  Village health guide scheme
(b)  Sixth five year plan (ii) ‘Family planning programme’” changed to
‘Family welfare programme’
(c) Seventh five year plan (iii) Goal of NRR = 1 shifted to 2006 - 11
(d) Eighth five year plan (iv) Goal of NRR = 1 to be achieved by 1996
Codes :
(@ (b) (o) (d)
O O @ @)
@) ) @ @ @)
@) () () @) @)
@) v @) @ o
Who convened the first India Population Conference in Lucknow in 1936 ?
(1) P. K. Wattal (2) B.T. Ranadive
(3) Radhakamal Mukherjee (4) Taraknath Das
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31.

32.

33.

34.

frfafea & 4 SF-a1 o SEEn Hifa 2000 % sy H 7@ Q2

(1) 9% 14 HHISIH- SIS @ §, 12 wfos fawg € 8iR 100 & stfe foganr wrf dem
) ;mwm-wmw%,uwm%aﬁmo@afwfaganmm
3) i:ch 10 HTHTIST-SIHIEahT A& §, 10 T fawa € 3R 100 § 1fys fogar & A
(4) iﬁaaﬁaﬁé off T |

frefafad § 9 ®F-91 U519 @’ &1 I9ge qRm € 2

(1) 38 yor fafa @ gaa % w9 A aRenfya ffan mn 2

(2) =H USA AF H GRHY | qa & &9 § qRefya fem mn )

(3) IS YUMEH 3T & 3R uferen @ Hefud gft-umel § g qoi wife, wmfasw ok
TSR GRTeTe i fefa § )

(4) 39 78 Wi § FF O 39 A9 € T St T Hdes iR Rferd 9 e o R ST
TS 1 &A1 § 3T 38 9 3R | HY ! 01 A &1 w@dan g |

HieW - [ § < T e A w1 wiem - 1§ < T IRar wedr A @ gafad
Eg

R - I HicTH - 11
(a) Hi=el g9 qEg A () g T MEE Al
(b) ST 9= TEA A (i) ‘IRER FESE FeET & IRER SHedr Fer | S
T |
(c) Hael 9= o A (i) THA.ALSR.-1 A& 1 2006 - 11 Tk FSHET T4 |
(d) 3T 9= Iuig Arem (iv) TA.3TR.3TR-1 % @& =l 1996 Toh I foharm ST
e :
@@ () (9 (d
® @ @) @) (Gv)
(2 @) @) @ ()
@) G (@v) (@) ()
(4) (v) () @G) ()

@IS | 1936 H A JoH STGEA THTA i ATl e i ?
(1) W% amEd (2) A T
(3) TUTRAA @S (4) TREHTY TE

o [N HAI 1



35.

36.

37.

38.

39.

Which one of the following was not part of Family Planning Programme in China during
1950 - 70 under the leadership of Mao Zedong ?
(1) F.P programme was linked with Social Development
(2) F. P was implemented using localised community approach
(3) F.P programme aimed at equitable access to basic education health and income
(4) F.P programme imposed ‘One Child Policy”
Most of the countries have expanded their family planning/Familywelfare services to cover
scope of Reproductive and Child Health (RCH) services. Which of the following world
population conference had recommended this expansion ?
(1) Belgrade 1965 (2) Bucharest 1974
(3) Mexico 1984 (4) Cairo 1994
Arrange the following four states of India by their decreasing level of “Ante-natal checkup”
(NFHS - 3 data) :
(@) Andhra Pradesh
(b) Kerala
() Tamil Nadu
(d) West Bengal
Codes :
1) (b), (©) (@) (d) 2) (@) (b) (@) (d)
(3)  (©) @) (b) (d) ) (b), @), () (d)
As per family welfare program in India, the first check up of a pregnant woman is prescribed
in which of the following periods ?
(1)  First eight weeks (2)  First twelve weeks
(3)  First twenty weeks (4) First twenty eight weeks
Which one of the following is not goal under NRHM ?
(1) MMR = 100
(2) CBR =21
(3) Under - weight children = 20% below 3 years
Anemia among women 15 — 49 = 28% years
|H||H||H||\|H|!|H|IHI\H\HII\I“H|||\|!|\|\||H| s papeca




35.

36.

37.

38.

39.

Hral feim 1 1egera | 1950 - 70 o SRH =4 § Ier fReE I o fefafed § 9 &9
feea =& o ?

(1) aREar S A & gt fase s feea s 7@ |

2) e A A 61 FwrEfeE e f9Eidl 1 Q= sl fohan T
(3) URER e die #1 e gRfveE fren, wrer SR o1 Y T T SUeTsHd § |
(4) e FESE S gt T o= o6t Hfifa’ s o

Yo TR firg] oo qaneti w1 YeH F TG dgd W W k1A uRar e/ afEr weamm
qarstt &1 aeran | 7§ 9 e fava saeen a9 | 36 fOWR & ST &t T ?

(1) 9IS - 1965 (2) TEARE - 1974
(3) Hfwdel - 1984 (4) ST - 1994

IRa & frefafad =) A #1961 THa-gd Wi % W ¥ ued gU HH H oFareed &
(TL.UF.TA.TH. - 3 TRT) :

(a) 3Ty g

(b) A

1) (®) (o) (@) (d) 2) (o) (b), (a), (d)
®3) 4) (b)

TR H TRER FHearor e & S8R fFg erafy § fodt mefadt sfita =1 g w9 % fdw fgw mu €2
(1) T TS e (2) Ve ANE TR
(3) UYUH Y HwR (4) 9YH SEH HHE

T o Tren faeE &1 frefafead § @ wE-m1 T dsg T8 ® 2
(1) THTAEAN. = 100
(2) #H&em =21
(3) 39 9 HH I ok g = 20% HT HH A5
15—49 99 ! Afgatsl § Wasiead (STAHE) = 28%

pasts HIH\IHIII||||\|||M||\|H|\IIIIIHHIH||\||\|\|\||||\ 1



40. Match the family planning methods shown in List - I with their clinical effectiveness
(Approximate) shown in List - II :
List - I List - II
(a) Oral contraceptive pill @ 50%
(b)y IUD (i) 89%
(c) Emergency contraceptive pill (iii) 95%
(d) Condom iv) 99%
Codes :
(@ (b) (o) (d)
W) () (@) @)
@ (v @) @ @
@) (Gi) (v) @ @)
@) ) @ @ @)
41. Match the authors of books given in List - I with the names of the books published by them
in List - II :
List - I List - II
(Authors) (Books)
(a) Paul Ehrlich (i) Population of India and Pakisthan
(b) Henry Shryock (i) The Techniques of Population Analysis
(c) George W. Barclay (iii) Population Bomb
(d) Kingsley Davis (iv) Materials and methods of Demography
Codes :
(@ (b) (o) (d)
O O @ @) @
@ ) @ O
@) (v ) 0 )
@) G @) @ 6
42. In view of the changing age composition, the base of age pyramid of India is :
(1) expanding (2) shrinking
(3) stationary (4) oscillatory
43. Which one of the following indicator of fertility is related with mean length of generation ?
(1) crude birth rate (2) gross reproduction rate
(3) net reproduction rate (4) total fertility rate
s [N 2 papeca



40

41.

42.

43.

o [N HAI 2

. gEt - 1 H gui T8 aReR s« fafy w1 gEit - 11 H S T ST i IHTEiR o 'Y

T - 11
50%
89%
95%
99%

et - 1 5 <3 T3 @l ol ol - 11 H IToh! TaRIR J&aeh! o M § gafard st :

T - 11

(& )

T TH{TR AT A TS
T oH

HRITH IS HYSH 3h SHRTHR

@R
e - IE @'

freafafed & & - &1 -9 SECERICIED SArad g7 (mean length of generation) ¥

Hehel YsTIT I

HHferd &

T - 1
(a) T FOYs el ()
(b) &E.EN. (i)
(c) aTdehTe T FRigew et (iii)
(d) <A (iv)
< :

@@ () (9 (9
1) Gv) () @) ()
(2)  (v) (@) @) ()
®) @) (v) @) ()
(4) @) (@) @ ()

T - 1

(T )
(a) it Tefels (i)
(b) BT gATE (i)
(c) ISl T&, dTehed (i)
(d) TorEa 2w (iv)
< :

@@ () (9 (9
® @ @) @) (Gv)
(2) @) @) @ o (@0v)
G)  (v) () @ (i)
(4) @) (v) @) ()
SeTdl 3T T hl S | T@d gU WRA & 1 fufie &1 onem
1) TGwR (2)
@) feazg (4)
Geifera €2
(1) erefe S ()
(3) Tt 951 R (4)

FA - &0
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44. Arrange following categories of the countries in descending order (top to bottom) according
to the Human Development Index (HDI) rank assigned to there countries in the Human
Development Report - 2014 released by the United Nations Development Programme (UNDP).
(a) Norway (b) Australia
() Switzerland (d) Netherlands
Codes :

1) @) ) © () 2 (@), @), © O
3) © @, ®) @ 4) () © @) (@

45. Match the Industrial stages given in List - I with changes taken place in urbanization given

in List - IT :

List - I List - II
(a) Pre industrial Stage (i) Urbanized area
(b) Industrial stage (ii) City Region
(c) Post - industrial stage I (iii) Urban nuclears
(d) Post industrial stage II (iv) Metropolitan complex urban/field
Codes :

@@ (b)) (o (d)
O O @ @) @
@ O ) (v G
@) () @) O @)
@) ) O @

46. Which one is the correct combination of facts given below ?

(a) Climate change causes flooding, draught and, super storms
(b)  Air pollution is related with diarrhoea
(c)  Water pollution causes hypertension
(d) Air pollution increases asthma and other respiratory diseases among people
Codes :
(1) (a) and (d) (2) (a) and (b)
(3) (b)and (0 (4) () and (d)

47. According to various population censuses carried out in India identify the correct code given

below :
(a) Over the past decades there is an increase in employment related migration
(b) There is an increase in migration towards urban areas
(c) There is a decline in intra-district migration
(d) The proportion of migrants has remained around one third
Codes :
(1) (a) and (c) are correct (2) (a) and (b) are correct
(3) (a), (b) and (c) are correct (4) (a), (b), (c) and (d) are correct
s [ [ RN 8 Fapeca




44. Trefafed < =t 4forll 1 Sgaa U fow™ wriEa (L. ELH.) g/ SR A fasm R 2014
H 3% avafdq Ae fashe geskie (TH.EL3AE.) o STIER STEUl % (s § 9 &1 3R)
T Hafked sifed .

(a) (b) errfe
() fads d) TelE
< :
1) (@), (), (9),(d) (2)  (d), (@) (9) (b)
3) (9, (d), (b), (a) 4)  (b), (9) (a), (d)
45, §EIt- 14 fod T SiEnfen =X 1 gl - 11 H o3 et § o1 9iadl & e gafed sifsd
et - 1 el - 1
(a) TR - ST =T (i) el e
(b) iR =z (i) VR TR
(c) TTH STENfTe =T - 1 (iii) v HEw
(d) v SArENfTE = - 10 (iv) TR I/ ved &
< :

(@ (b)) (o) (d)
1 @ @) () (iv)
(2 @) () (iv) (i)
(G) @) @) @) (iv)
(4) (@) (@) @) (iv)
46. = fou U oA ¥ ¥ FE-T1 TF GE A 72
(a) TG, Y@ IR THF THM A TREdH 6 HROT 8N ¢ |
(b) ATER &1 Fee A TG0 T
() = W-TT9 H FHR ST TG |
(d) 9T HGHO F AT A <A TR 3T v Heleht I H gig Bt 7
< :
(1) (a) R (d) () (a) ¥ (b)
() (b) IR () 4 (o) ¥R (d)

47. 9RA H wEifeq fafis STEe STomst & STIHR @& §e & fatwd &
(a) Tr=d qohl 8§, goom @ Hefud ISR H 915 g8 2|
(b) vt & T 3R vore ® gfg g8 B
(c) SA-T5en yaeq § w9 g T
(d) Tl T HHIIAT TTH T foerE @ e
%<
<1> (a) ¥R () WET & (2)  (a) SR (b) W T
(@), (b) aﬂwmﬁ% ) (@ ®) (c) 4R (d) 7 €

pasts HIH\IHIII (AR 2




48. Match the proposers of methods given in List - I with the methods proposed in List - IT in the
case of age misreporting :

List - I List - II
(a) whipple’s Index (i)  Dual reporting system
(b) Myer’s Index (ii) Digit preference
(c) UN Join Score Index (iii) Dislike index
(d) Chandra Sekhar and Deming formula (iv) A score of 12 indicates age data is
accurate
Codes :
@@ () (o (d)
®m @ @ G )
()  Gv) () @) ()
(®) @) @D @) ()
4) @) (@v) @) ()

49. Match items given in List - I with items given in List - II below :

List - I List - II
(a) International Youth Day () 12t August
(b) International Day of older persons (ii) 15t October
(c) International Day of the girl child (iii) 11th October
(d) International Day for The Elimination (iv) 25% November
of Violence against women
Codes :
@@ (b) (9 (d)
L @ @ @§) (@)
(2) @) () @) @)
() Gv) @ @) ()
@) @) @Gv) @O @)
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48. oY % HaY H Terd RO 31 % woel § gelt - [ 6 & T8 qgfaal & Tamdeni 1 geit - 1§ J&ifaa

Tgfadl 9 Hfed FiwT
it - 1

(a) feuerst sea (

(b) wEE e (id)

( (

( (

¢) F.UA. ST TR s
d) =% IeR TUE SHT wEe

e :

(@ () (o (d)
M @ G )
(v) (i) @) @)
(i) i) @) 6
() () i) ()

1
2
3
(

)
)
)
4)

g - 11

gIa faifén fawen
fefsre frmim
feqass s

12 % i% 9 Heha fieral § T o1g & oTise
TR

49. = S T G - 1 A H G - [0 H < A § gafad s

T - 1
(a) Ao 7o foaw (i)
(b) SR 5 feow (i)
(c) STa sfereht foorw (iii)
(d) Afeenst o 9fd fEd e #1 SAdwE  (iv)
feerg
HE :

@ () (9 (@
O @ @G (iv)
() @) (v) ()
(iv) (i) (m) (11)

111

(1)
(2)

)
(4)

passs ]

2

6]

T - 11

12 3T
JIRSESCRY

11 ST
25 g
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50. Match the type of settlements given in List - I with their features given in List - II :

List - I List - II
(a) clustered settlement (i)  In this type of settlement the built - up area is
less compact
(b) Semi clustered settlement (ii) Inthis settlement a few isolated huts are found
(c) Hamleted settlement (iif) It occurs due to social and ethnic factors
(d) Dispersed settlement (iv) In this type of settlement built up area is
compact and Inter - house distance is small
Codes :
@@ () (o (d)
O O @ ) @
@ v O G G
@) O (@) )
@) (v (@) @ 0
51. Match the contributors to theories of mortality given List - I with their contributions given in
List - II :
List - I List - II
(a) Benjamin Gompertz (i)  Genetic theory of mortality
(b) Makeham (ii) Force of mortality : Geometric progression of
mortality with increase in age x
() Perk (iii) Change in an extraneous factor independent
of age contributes to mortality in addition to
decreasing capacity to resist destruction due
to injury or infection
(d) Beard (iv) Proposed logistic curve function of mortality
to reduce the rate of increase of mortality at
higher ages to conform to the actual
observations
Codes :
(@ (b) (o) (d)
@ @ @§) (@)
(2) @) (@) @ ()
() @) (@) Gv) @)
4 @) @ @) @
52. Which of the following principles is used by W. Christtafer for developing central place
theory ?
(1) Homogeneity (2) Diversity
Uniformity (4) Collectively
||\||H||“||\|| MR 2 Papeca




50. e - 1 St T afal o G 1 et - I H & T ST foemarett § gafed st

et - 1 T - 11
(a) Tfesd it (i) TH YR &I a%it § faffa & &9 756 T
(b) a1¢f Tfema adt (i) 39 ot § pow fager ghufeat wreft St €1
() SuITH St (iii) T8 TSR & T FReHT o RO fAfHd 2t 7
(d) TeIS| ot (iv) 39 YHR I ot # A & ToF T 99 o 3tmars g
FA L
e :
@@ () (9 (9
® @ @) G (Gv)
(2 Gv) @) @) (i)
@) @ (@) @v) (i)
(4) (v) () (G) ()
51. §ei - 1¥ fU U g R % fogial % dremendistl sl et - 1 H fSu T FreH! @ gafed wif
T - 1 Tt - 11
(a)  SSTIEA THs (i) SHfesw AR TR ARfAer
(b) HweEw (i) I SITE ARt : 3T x W gfg & Wy IR gfg IR
HI |
(c) & (iii) W 9 @A 9 wRE H IRead 9 g H Jfs el & ad
oA TS HehHUT o hRUT THAM I Uch i &HAT Tt
2
d =T (iv) aTdfee STl & TIhd o &g SI¥w 39 H Iog H
gfg W FT FH 87 I H1 TEAMad qh&Td (ATIR=H )
EEREIGEN
<
@@ () (9 (d)
@ @ @) @) (Gv)
2 G @) @ @)
®) (@) (@) (@Gv) ()
(4) (@) @) (@Gv) (@)
52. fr=fafed | 4 fea fagia #1 Sy et 3 st wom fagia (Hea =9 «ar) =1 fow™ w3
ERRLERINRERIEI
(1)  wwiar (Fmfsrete) (2) fafgem (SEafde)
(3) UwET (FfTRIHED) (4) Wrffeswal (Fifaae)

o [N HAI 2
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53. How many “Sustainable Development Goals” (SDG) have been set among the following by
the United Nations General Assembly in 2015 ?
(1 8 2 11
3 17 (4) No such goals have been set
54. India’s population policy goal is to achieve zero rate of population growth. Which of the
following situations will help to achieve this goal.
(I) NRR = 1.0
(2) Population stabilization
(3) NRR = 1.0 and population stabilization
(4) NRR = 1.0, population stabilization and contraceptive prevalence rate = 65%
55. Easterlin hypothesis relates economic and social fortunes of a cohort with the relative size of
the cohort. Which among the following is used as approximation to relative size ?
(1) crude birth rate (2) total fertility rate
(3) gross reproduction rate (4) net reproduction rate
56. In Demographic and Health surveys, which of the following error is more important ?
(1) Sampling error
(2) Non - sampling error
(3) Both sampling and Non - sampling
(4) Nothing can be said about their comparative importance
57. Which of the following factors does not impact achievement of NRR = 1.0 in India ?
(1) Rise in age at marriage
(2) Increase in use of family planning methods
(38) Increase in percent women adopt practice of exclusive breast feeding for six months
(4) Increase in length of postpartum amenorrhea
58. Which one of the following is not associated with National Health Policy 2015 (draft) key
principles ?
(1) Equity (2) Affordability
(3)  Accountability (4) Nutrality
59. Calculate conventional Infant Mortality Rate (IMR) with 25,000 deaths in the same year for
birth cohort in the same year (Di ) and 25,000 infant deaths for the cohort of previous year
(Df) when the total births were 3,500,000 ?
(1 13 (2) 14 3) 15 4) 16
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53.

54.

55.

56.

57.

58.

59.

TH 2015 H T T HEHT gN F=fafed # 9 fhaq ' gad foem @sa (Ta.elsht) @ feg g
g2

1 8 2) 11

(3) 17 (4) U™ =k a&F 73 T forg 7T B |

IRA 1 TAGEA A A& TGS g i IR R H U w31 ¢ | Fefared § @ we-4 frufq 59
&I I YT HH H HIAAN YSH Rt ?

(1) TLIARIR = 1.0

(2) SHEE fer

(3) TAARIR. = 1.0 3R sEE e

(4) TIIARIAR. = 1.0, SHe feda siR 1dfiivs J=ed X = 65%

T fee 9aed T (TREH sanafad) U YR it e qun qmifsie Tufa ol SHeh druel
3R & 19 Tag il & | Fefafaa 9§ 9 fome g amey R 9 gfseed & w9 § foran s
7?2

(1) oTenfyd s T (2) FA T GHA R

(3) HHA Yo R (4) THaa g5 R

SHifeReh e TR w@mee e , frefafed # @ wF-d Jfe siften weeyul 272
(1) wfaee Ffe

2) Tr-ufaest Jfe

(3) ufaeet siR TR-wfaest =i

(4) Tk JOIHE HEd & IR H F© ot TEl e S Hohal |

frafafed § 9 SH-91 FRE 9Rd § TA.STR.TR. = 1.0 I & o1 genfad T8 i ?
(1) foam =t o ¥ gfg |

(2) GRER fEsH & alwl & seae 3 g |

(3) U ufeensti #t yfavaa # gig St 98 U 9% Fad W IH FI

(4) YHERR A i FHAEty § gig |

frefafaa § @ & Y@ T @R ifd 2015 (3E9) fagid @ defa @ 22
(1) g (sfee) (2) S (Thefafaer)
(3) TomeRl (eremicfaferdl) (4)  dEE

A TR e TR (T TA.AR.) Y TR S S o H 5 qe (98 FER) (D, ) F o

39 99 # 25,000 U 2, den Tt o (Df)%w (wiere) § 25,000 313 9o & Seifer Fer

&I 3,500,000 off ?
4 (3) 15 4) 16

1) 13 @ 1
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60. The Life Table Birth Rate (LTBR) is calculated as :
(1) LIBR = o (2) LTBR = fo
Lo To
(3) LIBR = o (4) LIBR = Zg
qo lo
61. Which of the following method is used for adjustment of data from dual record system ?
(1) reverse survival method
(2) P/F method
(3) Rele’s method
(4) Chandrasekaran - Deming method
62. Arrange the fertility indicators shown below from “Crude” to refined.
(a) Crude birth rate
(b) Total fertility rate
(c) General fertility level
(d) Total marital fertility level
Codes :
1) (@), © O) @
2 (), @ © ®)
(3) @, (@) @), (b
4 (@) (®) () (d)
63. Among the following, which ones are necessary for construction of life table.
(a) Population is closed to migration
(b) Radix is know
(c) Risk of mortality at each age
(d) Average number of years lived
Codes :
1) (@), (), ©
2 (), © ()
3) () ©
4  (®)(©
os1 [ MO AMI 50 S




60.

61.

62.

63.

asts HIH\IHIIIIIIIHI

e AR 9 X (TA. 51,37, ) i TUMAT 39 YRR ki AT © ¢
_Io _Io
(1) LTBR =1 (2) LTBR =
lo l

LTBR = 4) LTBR =-2%
©) %0 @ °

frefafea & @ frg fafa =1 swam <Rt aifiaera goret (gadt e faea) | sridel TamEsH 8
ERIEIGIEY,

(1) ftem Iasiifaa fafy (Red wafzaa o)

FrefafEd g5 @ &l Tfyd § 9Rehd e § Saied St ¢
(a) STNfHd S T

(b) P FTTT R

(c) WHMI 95 &

(d) P AG TSI &R

< :

~— — ~— ~—

1
2
3
4

o~ o~ o~ o~

frefefaa § @ %19 Ste gron fEio & fad emeegs §2
(a) TG % GHIY G

‘lm?’maﬂ%

gfd &1 <X g 1 SHEH

Shifera @t st ofEd S (Tas T=R A6 I4 faee)

—_~
NC2

(c

~

%‘1@

) (@) (b), ()
) (@) (c) (b)
) (a)()
(4)

W N =

(
(
(

), (©)

i ;

—
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64. In which of the following schemes / programmes ‘Community Monitoring” technique was

used ?

(1) Reproductive and Child Health Programme (RCH)

2

4

65. Which one of the following is correct expansion of 'IPCC’" ?

(1) International Panel on Climate Change

(2) Child Survival and Safe Motherhood Programme (CSSM)
(3) National Rural Health Mission (NRHM)
(4)

Universal Immunisation Programme (UIP)

) Inter-Governmental Panel on Climate Change
(3) International Programme for Climate Change
)

International Plan on Climate Change

66. Which among the following services received emphasis in the Scheme “JANANI SURAKSHA

YOJANA”in NRHM ?

(1) Ante - natal care, Institutional Delivery, Post - natal care

()
(3) Ante - natal care
(4)

Institutional Delivery

Ante - natal care, Institutional Delivery

67. Arrange the following four states of India by their decreasing (high to low) level of unmet

need (NFHS - 3 data) :

(a) Bihar

(b) Jharkhand
(c) Odisha

(d) Uttar Pradesh
Codes :

1) (@), ®), @,

), (b), (d), (c)
2) (@) (®) () (d)
3)  ®) @), @) ©
4 (@) (d) () (b)

), (d), (
oass [ I
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64.

65.

66.

67.

frefafed 9 9 foeg F/wewa § e Few gl o1 s&dama fora e ?
(1) Y 3R forg] e A (SR T=.)

2) Ty suvsifad oIk QXferm wge I (H.08. 19T, )

(3) U UTHT e Y (AR TELTA.)
(4)

4)  Afyash deprehor A (7,31 d)

frefafed 9 9§ #H-91 TF ... =1 9 &9 9 7Rfid w22
(1) HreH I T STas U
(2) HIEH IEAE R Ad: WHR I
(3) TIUH I<AE 7Y AL HAHH
) HIEH FEad W SR A

4

T AT Eree e o S GReT A i Wi | fefated § 9 A dansti | Aty aa
e ?

(1) 999 94 S@9E, Hed J8a, 799 IWq @ |
(2) YEE JE @, G gHa |

(3) THd Yo @Y |

(4) EEATHS TEe |

IR o Fefafad Ir Tl &l 37! srevaesmarst] ot gfd 7 f6 '’ % &) 9 "ed gUwA
(3= 9 f177) o =afied w (H.Th.E.TE. -3 2R) ¢

(a) To=R
(b) wRES
(c) eiS™

A/\/&\
\_/\./\_/

()()( ()

JHFARER .
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68. Arrange the following four terms of pregnancy termination by their period of occurrence,
from earliest to the latest.

(a) Late foetal death
(b)  Peri - natal mortality
(c) Neo - natal mortality
(d) Infant mortality
Codes :

1) @ © O) @

2) (@), (b), (0, (d)

@) (@), (d), (b), (c)

4)  (a), (d), (c), (b)

69. Match various “Acts and Bills” given in Column - I with their year of promulgation in
Column - II :

Column - I Column - II
(a) The control of Tobacco Product Act (i 2011
(b) Medical Termination of Pregnancy Act Amended (ii) 2004
(¢) The Immoral Traffic (Prevention) Amendment Bill (iii) 2002
(d) The protection of child from sexual offence bill (iv) 2006
Codes :
(@ (b) (9 (d)
1 G @) @) @)
(2) @) @Gv) @ (D)
G G@v) @ @) ()
Do
|

ii)

(
Ml

i) (iv)

) (
s [
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68. W &fd & Frefarfad =R Al (terms) F1 wIfed T &% T9F & TR FaId Tgcl § Fad 918 i Y,
% STTHR HTEYd hY :

(a) focifer yor e
(b) TH-Ted TLERA
() TrI-TFea waxa
(d) T fomy =L
FE

1) (@) (9) (b), (d)
2 (@) () () (d)
3) (@) () (), (©
@ (@) (d) (9) (b)

69. ohieT -1 ¥ fau mu fafis ‘ srfuframi’ ofv ‘ fadae’ o1 37% I 3 & 98 51 i - 11 H fear T
?, & @Y gHfera Y

HeH -1 Hieq - 11

e Sc1e W T stfufed iy 2011

() oMifas Ig-=amR (Ik) Heifed fadas
(d) I sy 9 fry gean fadus

) (
(b) TR w1 Afewa HATA sifafraw (Fenfaa) (ii) 2004
(iii) 2002
(

iv) 2006

(@ (b) (o) (d)

1) @ G Gv) @
(2) @) (@) @O @)
G) @) @ @) ()
@4 @O @G @) @)
oass [ {IHNIENN .




70.

71.

72.

Read the following table on percentage exposure to family planning message and answer
questions (70 to 75) :

State Women Men
Radio TV Newspaper | Radio| TV | Newspaper
Himachal Pradesh | 30.4 59.7 29.2 47.8 | 75.2 62.4
Uttar Pradesh 40.7 45.9 17.3 724 | 63.0 53.2
Bihar 42.1 25.5 11.7 57.1 37.4 38.3
Gujarat 27.5 57.0 28.3 48.6 | 72.1 55.5
Kerala 35.6 44.6 38.5 46.4 | 57.5 62.1

Source : NFHS - 3 Report P. 152

Arrange in descending order (high to low) the following states in terms of exposure of men
to family planning through TV :
(1) Himachal Pradesh, Gujarat, Uttar Pradesh, Bihar
(2) Himachal Pradesh, Gujarat, Bihar, Uttar Pradesh
(3) Gujarat, Himachal Pradesh, Uttar Pradesh, Bihar
(4) Bihar, Uttar Pradesh, Gujarat, Himachal Pradesh
Which of the following state has highest percentage of women and men exposed to family
planning message through TV ?
(1) Gujarat (2) Uttar Pradesh
(3) Himachal Pradesh (4) Bihar
Arrange the following states in ascending order (low to high) in terms of exposure of women
to family planning messages by radio :
(1) Kerala, Bihar, Himachal Pradesh, Gujarat
(2) Kerala, Bihar, Gujarat, Himachal Pradesh
(3) Gujarat, Himachal Pradesh, Bihar, Kerala
Gujarat, Himachal Pradesh, Kerala, Bihar
RN 5 —




70.

71.

72.

oass [

frefafea areft =t ufed, fed Ta A 9Rar friem 939 i ugem & faed o T €, ok sus
YR T YA F&A1 (70 9 75) 1 I T

AT T
T
IMear | el | @UmER US| dedr | dEt | 9uNER U
feurae gewr | 30.4 59.7 29.2 478 | 75.2 62.4
I YT 40.7 45.9 17.3 724 | 63.0 53.2
foer 42.1 25.5 11.7 571 | 374 38.3
TR 27.5 57.0 28.3 486 | 721 55.5
HA 35.6 44.6 38.5 464 | 57.5 62.1

A : TL.Uh.TE.0E.-3 Uk % 152

frefafed =i =1 g&s | et g1 aRar feiem gee gew g9 o oedE! (3= 9 f=1) %u o
S I

1
2
3

(
(
(
(4

)
)
)
)

frefafea 9 9 frg T3 9 2181 & aream | aRar fEse &1 931 91 a1t Afeatisd T &6l
wfaerd Taife § 2

(1) TSN@ 2) W IR

(3) femmert wew 4) fomr

frefafaa T i Year gr1 afEr e &1 H@ew afgeneii 7o wger &1 TR %0 (f 9 =)
o Faferd ®ifse :

fa

chicd, r®|6I{, leHId el Hqxl, {[si}d

1

2) R, ToRR, TS, fgam=dt geun

3) eI, ferree gew, foRR, i

(1)
(2)
()
(4)

4) TSN, TeuTae 9q, ohd, TR
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73.  Which of the following state has the higher percentage of men exposed to family planning
messages through radio ?

(1) Bihar (2) Gujarat
(3) Uttar Pradesh (4) Kerala

74. Which of the following state has least percentage of women exposed to family planning
message through newspapers ?

(1) Kerala (2) Gujarat
(3) Bihar (4) Himachal Pradesh

75. Which of the following state has highest percentage of men exposed to family planning
message through newspaper ?

(1) Gujarat (2) Uttar Pradesh
(3) Kerala (4) Bihar
-00o0-
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frefafed § 9@ fa T =1 et & Teag @ 9fer e &1 93w qEul aF T899 &1 oy

73.
gfaerd 2
(1) foem (2) TSud
(3) TR YW (4) &

74. fTrefafed 4 3 fre T=9 = gueR o= % T | 9iar e & Hew Afeensti 7@ wgen @
i el wH 72
(1) @ (2) TSud
(3) femr (4) Temmed gem

75. Trefafed § @ foeg T59 1 99ER OS5 & A1 | 9RER fem &1 9o gEul ad SEa gfaed §
R ?
(1) Tod (2) SWHW
(3) ¥ (4) fo=r

o0o
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